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Question Number : 1 Question Id : 9497305378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eamed leave can be combined with:

Options:

, = Casual leave. Half Pay leave. Maternity leave

- = Study leave. Casual leave, Maternity leave

5  Sick leave, Half Pay leave, Matemnity leave

4 = Casual leave. Paternity leave, Maternity leave.

Question Number : 1 Question Id : 9497305378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 9497305379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Encashment of earned leave up to 10 days at the time of availing LTC 1s permitted.
provided that the minumum number of earned leave the government employee has to his
credit is:
Options:

, = 120 days

> % 00days

= 30 days

4 w 300 days



Question Number : 2 Question Id : 9497305379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 9497305380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The maximum period of Child Care Leave that can be availed by a woman governiment
employee during her entire service is:

Options:

. « 130 days

5 # 7100 days

5 % 050 days

4 = 305 days

Question Number : 3 Question Id : 9497305380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U AT FIFEN FHANT ZaRT 3TF W U1 F R Py cwsmer & v
HIFT T oI 33 FT ATHaq TAT Fa=r &7

Options:

| 730 =

> % 700 R
o % 650 R



. % 365 R

Question Number : 4 Question Id : 9497305381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A gazette government employee who is a CGHS beneficiary is required to submit a
medical certificate for grant of leave on medical grounds issued by:

Options:
1 % RMP

> % AMA

5  Doctor in CGHS dispensary

4 # Doctor in Private Nursing Home

Question Number : 4 Question Id : 9497305381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 9497305382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A government employee who had reached maximum of 300 days on January 1. 2015, In
August 2015 he availed earned leave of 10 days. How many days of earned leave will be
shown in his earned leave account as on December 31, 20157

Options:
; = 300 days

> w 300+ 15 days



5 o 300+ 5 days

4 # 290 days

Question Number : 5 Question Id : 9497305382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 9497305383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will be the leave salary of an employee who avails HPL?

Options:
, = Pay last drawn

> o 50% of amount admissible on earned life

= % 75% of amount admissible on earned leave

4 % 25% of amount admissible on earned leave

Question Number : 6 Question Id : 9497305383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 9497305384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If an employee who availed leave not due returns to duty and resigns subsequently without
earning the credit of HPL, what action is he liable for?

Options:
1 ® DlSCIpilllarjf action

-  Refund of salary

= % No Action

4 = Notto accept resignation

Question Number : 7 Question Id : 9497305384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 9497305385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
When a government employee resigns from service. what is the maximum period of
earned leave to which encashment of leave salary is payvable?

Options:



, = 300 days
o B NIL
240 days

4  Half of earned leave subject to maximum of 150 days.

Question Number : 8 Question Id : 9497305385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 9 Question Id : 9497305386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To which leave account Maternity leave is to be debited?

Options:
1 % Earmed leave

-~ u Half Pay leave

2 « No leave account

4 % Leaveno Due

Question Number : 9 Question Id : 9497305386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 9497305387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For how many minor children a woman government employee can request for grant of
child care leave?
Options:
1 % For 3 children

-~ w Forany 2 children

= o For 2 eldest children

4 % No limit

Question Number : 10 Question Id : 9497305387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 9497305388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The maximum age limit prescribed for a child who has a disability of 60 %o for grant of
Child Care leave to a woman employee;

Options:

; = Above the age of 25 years



» u DBelow the age of 25 years

-  Below the age of 22 years

4 # Age between 25 years and 30 years

Question Number : 11 Question Id : 9497305388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 9497305389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is eligible for grant of study leave?

Options:
, = Group A officers only

> w Group B Gazetted officers only

5 % Group C staff only

4 « All Gazetted and Non Gazetted staff

Question Number : 12 Question Id : 9497305389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 9497305390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the maximuum number of days of casual leave that can be granted to a government
employee at any one time?

Options:
, = Sdays

5 o 5 days
¢ 7 days

4 = 0days

Question Number : 13 Question Id : 9497305390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 9497305391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A woman employee in government service selected for participation in dancing
competition organised by national level requests for grant of special casual leave for 5
days for practice in connection with the above activity. To what extent she is eligible for
such request?

Options:
1 % Yes

> « Not admissible

5 » Admissible . to be treated as duty

4 % Not admissible . to be treated as EOL

Question Number : 14 Question Id : 9497305391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 15 Question Id : 9497305392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Gopal died during duty on March 31, 2015. Earned leave to his credit as on December 31.
2014 was 260 days. The total of earned leave at credit on the date of his death is:

Options:
; = 275 days

o> 268 days

266 days

t
i



4 # 2060 days

Question Number : 15 Question Id : 9497305392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 16 Question Id : 9497305393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Maternity leave of 45 days will not be granted in respect of the following cases:

Options:
1 % Abortion

> % Miscarriage

= « Threatened abortion

4 % Induce abortion

Question Number : 16 Question Id : 9497305393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 9497305394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of spells for which child care leave can be granted in a calendar year is:
Options:

, = O spells

-  Notmore than 3 spells

5 # O spells

4 # 4spells

Question Number : 17 Question Id : 9497305394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 18 Question Id : 9497305395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the followmg 1s applicable when a government employee
applies for another postunder GOI but outside his parent
ottfice/department and forwards apphcation through proper channel
but 1s required to resign from his post before takmg up new post?
Options:

, = The leave to the credit of government employee shall lapse.

> % 50% of leave at credit shall be accounted for



5  Leave to the credit of government employee shall not lapse.

4 % 75% of leave shall be accounted for

Question Number : 18 Question Id : 9497305395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 19 Question Id : 9497305396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A request of the government servant for conversion of one kind of leave into another kind
which was due and admissible at a time when the leave was granted originally. may be
considered by the competent authority in case such a request has been received:

Options:
Within 30 days of the concerned government employee joining his duty on expiry of the
» leave already sanctioned.

> % Atany time before retirement on superannuation.

= % Wwithin one year of joining duty on expiry of leave already sanctioned.

4 % Within a maximum period of 4 months after the employee ceases to be in employment.

Question Number : 19 Question Id : 9497305396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 9497305397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If a government employee retires on voluntary retirement on July 16 forenoon. how many
days of earned leave will be granted to him for the half year?
Options:
1
. 3 = days

1.

- u 3days

5 = 15days

4.« NIL

Question Number : 20 Question Id : 9497305397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 9497305398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A government employee was awarded with penalty of withholding of one increment by
issue of punishment order dated November 01. From which date the penalty takes effect?

Options:
1 % November 01

> % October 01

s % January 01

4  July 01

Question Number : 21 Question Id : 9497305398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 9497305399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The maximum time allowed to a government employee to appear before inquiring
authority after the receipt of article of charge by the inquiring authority is:

Options:

, « 10 working days



5 % 7 days

= % 30 working days

4 # 3days

Question Number : 22 Question Id : 9497305399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 9497305400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A government employee who was convicted by a court of law has suppressed the fact and
request for grant of regular leave for the absence. What action 1s to be proposed if leave is
already sanctioned?

Options:
1 # Sanctioned leave to be cancelled.

-  Government employee is liable for disciplinary action.

5 » Government employee is to be dismissed immediately.

4 = Not to be allowed to join duty

Question Number : 23 Question Id : 9497305400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 24 Question Id : 9497305401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What constitute a strile?

Options:

, = Submission of joint representation by employees.

- u Participation in General Body Meeting.

- » Lawful gathering of employees at one place within the office premises.

4 « Refusal to work or stoppage or slowing down work by a group of employees.

Question Number : 24 Question Id : 9497305401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 9497305402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following comes under the expression ‘Gift™?
Options:

; = A casual meal offered to a government employee.

- = Social hospitality
Free transport. boarding and lodging offered by a person who has official dealings with
5  Zovernment employee.

4 # Nearrelative’s help

Question Number : 25 Question Id : 9497305402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 7 ¥ Fi99 UF RN F IF9F F H{gET HGm 27

Options:

| % UF T FHAN F FATIRE ST S B T

> % TIATNSAF HifaeT

fordr 08 afea ganr e afitags, e 3R are i Jeerer g oras
- v TGN FAENT & BT @R 098N 8

. % Tie & madt #r Aeg

Question Number : 26 Question Id : 9497305403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A Group ‘B’ officer of the government works as a part-time accountant for a charitable trust.

Which of the following option is correct w.r.t above?

Options:
, « Ifitis an honorary work. no previous sanction is necessary.

-~ = Previous sanction is necessary even for honorary work.



5 » Cannot involve in part time work.

, # Cannot undertake any part time job.

Question Number : 26 Question Id : 9497305403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 9497305404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the function of an inquiry officer?

Options:
; = Duty to somehow prove the charges.

-  Conduct an inquiry as a quasi-judicial functionary and send the report.

- w Suggest deterrent punishment/penalties

, # Consult others behind the back of the charged officer and send a report.

Question Number : 27 Question Id : 9497305404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 9497305405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a family member of a governments employee enters into transactions of movable and
immovable property out of their own funds in their own names, such transactions:

Options:
Would be treated as transactions out of funds of the government employee and the relevant
, % Pprovisions of conduct rules will be applicable.

Should be reported to the government within one month from the date of transaction.
Cannot be done without obtaining prior approval of the government,

Need not be reported to the government as they do not come within

e, the purview of conduct rules.

Question Number : 28 Question Id : 9497305405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 9497305406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



The rate of subsistence allowance is prescribed in:

Options:
1 « FR 53

> % FR10
s % FR 54

4 # Rule 10 of CCS (CCA) rules

Question Number : 29 Question Id : 9497305406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 30 Question Id : 9497305407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The following does not attract the provisions of Rule 22 of the
Conduct rules:
(a) Consumption of liquor by a government employee in a club meant
exclusively for members to invite non members as guests.
(b) Taking liquor in a public place or appearing there in a state of
intoxication where prohibition is not in force.
Options:
1 #® Olﬂ'}" (El}

> % Only (b)
5 o Neither of (a) or (b)

4% Provisions of rule would be applicable nn both (a) and (b)

Question Number : 30 Question Id : 9497305407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 9497305408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is competent to hold an inquiry when there is a complaint for sexual harassment?

Options:
| « A complaint committee established in Ministry/Department/office

- % Head of Office

- w Head of Department

4 = Avigilance Committee of the Department

Question Number : 31 Question Id : 9497305408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 9497305409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How are the orders / Notices served to an government employee?
Options:

, « Served in person or by Registered Post

- u By ordinary Post

- % [Ihrougha messenger

4 # BY courier

Question Number : 32 Question Id : 9497305409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 9497305410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following are not included in the term ‘Family™?

Options:
; = Married daughter who have been divorced and wholly depended

- w Step mother residing with and wholly dependent

-  Father in law/Mother in law of Government employee



Unmarried minor brother residing with and wholly dependent on Government employee

4 % and whose parents are not alive

Question Number : 33 Question Id : 9497305410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 9497305411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is correct w.r.t LTC?

Options:

, « The declared place of visit may be changed before commencement of journey.

> % The declared place of visit can be changed during the journey.

- = [Ihe declared place of visit can be changed after the journey.

4 # The declared place of visit can be changed at the time of submission of LTC bill.

Question Number : 34 Question Id : 9497305411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 35 Question Id : 9497305412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Is LTC admissible for journey during weekend holidays without any leave?

Options:
1 % Admissible

> # Admissible in exceptional cases

- % Admissible subjectto conditions

4 + Non admissible

Question Number : 35 Question Id : 9497305412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 36 Question Id : 9497305413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Entitlement of LTC to Home town to unmarried government servants:
Options:

¢ Once in 2 years

L .

5 of Every year



- » Alternate year

4 # Oncein 3 years

Question Number : 36 Question Id : 9497305413 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 9497305414 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Service tax and educational cess etc.. charged by Government on air travel / rail travel /
steamer travel eligible for reimbursement?

Options:

1 % No

> u Eligible with the permission of the competent authority

5 of 168

4 = Admissible on official tours only

Question Number : 37 Question Id : 9497305414 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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Question Number : 38 Question Id : 9497305415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The time limit fixed to claim reimbursement of expenditure incurred under LTC, if no
advance is drawn is:

Options:

, « Notexceeding 3 months

> w Wwithin 45 days

- » Not exceeding 6 months

4 # Within 1 year

Question Number : 38 Question Id : 9497305415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 39 Question Id : 9497305416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Government employee whose head quarter / Place of posting and Home Town are
same are:

Options:



, « Not eligible to Home Town LTC

- u Eligible for Home Town LTC

- u Eligible for Family only

4, = Eligible for Self only

Question Number : 39 Question Id : 9497305416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 40 Question Id : 9497305417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How is the entitlement to the class of Railways is decided for LTC?

Options:
; = Class to which the Government employee is entitled at the time of booking tickets.

- « Class to which Government employee is entitled on the date of journey.

5 = Class to which Government employee is entitled at the time of receiving advance.

4 = Class to which the Government employee is entitled while declaring place of work.

Question Number : 40 Question Id : 9497305417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 9497305418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Is the Government employee retiring on January 01. 2014 and has only one month’s
service during the block year 2014-17 eligible to avail 4 years LTC?

Options:

, « No Eligible

-~ # Yes. provided the return journey is completed before the date of retirement.

- # Eligible only for HT-LTC

, = Eligible provided onward journey is started before 31-01-2014

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 41 Question Id : 9497305418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.



Question Number : 42 Question Id : 9497305419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A woman Government employee with Grade Pay Rs. 6600 availed All India LTC. She
tried to book tickets but only AC III tier tickets were available and decided to proceed with
LTC. Her claim for LTC will be regulated as:

Options:
, = Sheis eligible to travel by AC II tier. her claim will be rejected.

She is eligible to travel by AC II tier. her claim will be admissible for a travel in a lower
- « class.

5 » Her claim will be allowed as per AC II tier train fare.

According to her eligibility, she is entitled for economy class by air. she will be paid air
4 % fare.

Question Number : 42 Question Id : 9497305419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 43 Question Id : 9497305420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Are the children of a widowed daughter or widowed sister covered in the definition of
Family for LTC?

Options:



, « Not covered in the definition of family for LTC

- % Children of widowed sister only eligible

- % Children of widowed daughter only eligible

4 = Children of both are eligible

Question Number : 43 Question Id : 9497305420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 44 Question Id : 9497305421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Government emplovee and each member of his family permitted to visit different
places of their choice during the block of four years?

Options:

1 « Permitted

> s Not permitted

. Family should visit same place as Govermment employee.

« Government employee and the family must travel together to same place.

Question Number : 44 Question Id : 9497305421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



TIFNT FHINT T 39F TRER F 9% HSFT FF TN T & o0l & T
3! 9HE & Taffiest Turar @ A s dr HFAf:

Options:

1 %

ga PO W) 8

. % TREAR F FERT FHAN & & TUF 9T AT R el

, % TN FAENT AR IRER # UF & TS ) UH A@NY AT FEAT FE

Question Number : 45 Question Id : 9497305422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many tunes can Home Town be changed during an entire service?

Options:
1 % Thrice

o« Once
z % Twice

4 % Four times

Question Number : 45 Question Id : 9497305422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 46 Question Id : 9497305423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Monthly grant made to government employee who is not in receipt of pay or leave salary
1s:
Options:

, « Subsistence grant

5 # Substantive grant

- » Personal grant

4 % Temporary grant

Question Number : 46 Question Id : 9497305423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 47 Question Id : 9497305424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Average pay means:
Options:

; % One month pay

-  Average of monthly pay earned during 12 completed months.

= # Average of monthly pay drawn in last 6 months.

4 % Paydrawn in the month in which last mcrement was drawn.

Question Number : 47 Question Id : 9497305424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 48 Question Id : 9497305425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following enfry is not recorded in the service book?

Options:

, = Pay fixation

> o General Provident Fund
= % Leave

4 % Leave Travel Concession

Question Number : 48 Question Id : 9497305425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 49 Question Id : 9497305426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



As per the recommendation of VI pay commission. what 1s the possible date of next
increment at the tune of promotion if the official opts to get his pay fixed in the higher
grade from the date of his promotion?

Options:
; = Date of promotion

5>  July O1 of the next year

- » Either Date of promotion or July 01 of the next year

4 w January 01 of the next year

Question Number : 49 Question Id : 9497305426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TS Iaa IAET H fFwiet & R, afg e swEesta @ Afr & e
a4 1 F9 AT A T = F1 BeeT g1 §, O eeata & Ay w
ITHr 304 e Fr 3pETer gaag [ F2w 87

Options:

Ebﬁma’&ﬁgﬂé1

T & JeleaAta @ i ar serer av & s 1

o ®

4w TS 99 Fr FATL 1

Question Number : 50 Question Id : 9497305427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT included in Duty?
Options:

, w Probation period

- % Iraining period

- % Joining time

i Leave period



Question Number : 50 Question Id : 9497305427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 51 Question Id : 9497305428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A Tenure post is a:
Options:

| « Permanent post

5 % Temporary post

- w Ad-hoc post

4 = Ex-cadre post

Question Number : 51 Question Id : 9497305428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 52 Question Id : 9497305429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



On promotion. a government employee is to exercise option for
fixation of his pay i the promoted post:

Options:
, = Onthe date of promotion

- « Within one month from the date of promotion

z # Wwithin 10 days from the date of promotion

4 = Onthe date of taking over the charge of promoted post

Question Number : 52 Question Id : 9497305429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

YaledTa 9, T I FHINT Ialeadd 98 9T J9 3 @uor Feeq &1
wreT FT TFAT 2

Options:

_ o T B ¥ o AE F A
.« TR R ¥ 10 R F i

, % TErEAd g F FEUHAR TEE H AT W

Question Number : 53 Question Id : 9497305430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The lien of a government employee can be retained up to what period in e parent
organization?

Options:
] ® One year

5 1WO years
¢ Three years

=

4 = Five years

Question Number : 53 Question Id : 9497305430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 54 Question Id : 9497305431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
At present the amount of increment is to be rounded off to:

Options:
1 % Nearest to five

- % One

- % Multiple of five

4  Multiple of ten

Question Number : 54 Question Id : 9497305431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 55 Question Id : 9497305432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The maximum age of woman employee for the grant of family planning allowance for
undergoing sterilization operation is:

Options:

; w 40 years

5 of 45 years

5 % S0 years

4 % 406 years

Question Number : 55 Question Id : 9497305432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 56 Question Id : 9497305433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Travelling for a local journeyv is admissible if the temporary place is beyond how much
kilo meters from the normal place of duty?

Options:
1 % Skm
> % 6km

z % 7km

4 « 8km

Question Number : 56 Question Id : 9497305433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 57 Question Id : 9497305434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With effect from 1.1.2006 which of the pay band have been provided with variable rate of
increment at 3% and 4%?7?
Options:
1 % PB2and3

> o PB3
z % PB3and4

4 % PB4

Question Number : 57 Question Id : 9497305434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 58 Question Id : 9497305435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Dearness allowance admissible for local journey exceeding 12 hours 1s:

Options:
1 % Full DA
- ® 35% of DA

= ® 70% of DA

4 « 50% of DA

Question Number : 58 Question Id : 9497305435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 59 Question Id : 9497305436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The joining time admissible to government employee to join new post at the same station is:

Options:
% Odays
7 days

5 o lday

2 days

o
&

Question Number : 59 Question Id : 9497305436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 60 Question Id : 9497305437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Inquiry is not necessary when an employee is involved in:
Options:

1 #% Intoxication of alcohol

-  Conviction on criminal charges

5 w Misuse of government property

4 # Misbehavior with superiors

Question Number : 60 Question Id : 9497305437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 61 Question Id : 9497305438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who among the following is competent to sign the notice of final penalty?
Options:

, w Controlling officer



- » Enquiry officer

-  Disciplinary authority

4 # Appointing authority

Question Number : 61 Question Id : 9497305438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 62 Question Id : 9497305439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If an employee 1s transferred to another CGHS station whose family continues to stay in
old station is:

Options:

, « Entitled to CGHS facility at the old station

- w Not entitled to CGHS facility at the old station

- » Entitled for only 2 months from the date of transfer

, w Entitled for only 6 months from the date of transfer

Question Number : 62 Question Id : 9497305439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 63 Question Id : 9497305440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many days of earned leave can be encashed for LTC during the entire service of
government employee?

Options:

; = 30days

> w 45 days

5 060 days

4 = 90days

Question Number : 63 Question Id : 9497305440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 64 Question Id : 9497305441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following allowances are not admissible during joining time?



Options:
1 % House rent allowance

-  Permanent travelling allowance

5 w lransport allowance

4 % CCA

Question Number : 64 Question Id : 9497305441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 65 Question Id : 9497305442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following travelling allowances do not fall under SR217?

Options:
, = Permanent travelling allowance

» = Conveyance allowance

= u Mileage allowance

4 « Dearness allowance

Question Number : 65 Question Id : 9497305442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 9497305443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Prepondence of probabilities means:

Options:

, = Probabilities of finalizing the enquiry on time.

- u Insisting on fool proof evidence as in a court proceedings.

- » Wweighing the possibilities of penalties.

Deciding the matter on assessing the action or in action vis-a-vis duties based on available
4  documents and witnesses and not instating on fool proof evidence.

Question Number : 66 Question Id : 9497305443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 9497305444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who maintains the register showing expenses by Heads of account?

Options:



1 % Head of office

- w Head of department

5 = Pay & Accounts office

4  Drawing and Disbursing officer

Question Number : 67 Question Id : 9497305444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 9497305445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of registered supplier firms in limited tender enquiry should be more than:
Options:

1.¢ 3

|

i
®
L

Question Number : 68 Question Id : 9497305445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 69 Question Id : 9497305446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Life certificate is to be furnished by the pensioner:
Options:

, = Every month

- = Every quarter of the month

5 w Every six months

4  Onceinayear

Question Number : 69 Question Id : 9497305446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 9497305447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is an interest bearing advance?

Options:
1 % Advance of LTC



- % Advance of Medical treatment
% % Festival advance

4  Purchase of personal computer

Question Number : 70 Question Id : 9497305447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 9497305448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rule 22 of GFR 2005 deals with:
Options:

, = Standards of financial proprietary

-  Expenditure from public fund

5 = Delegation of financial powers

4 % Consultation with financial advisors

Question Number : 71 Question Id : 9497305448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 72 Question Id : 9497305449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Under rule 25(3) of GFR. in cases where it becomes necessary to issue a sanction to
expenditures before funds are communicated. the sanction should specify that:

Options:
, = Expenditure is of urgent nature

> w Expenditure is of routine nature

- = Expenditure is unavoidable

4 « Expenditure is subject to funds being communicated in the budget of the year.

Question Number : 72 Question Id : 9497305449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 9497305450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A cheque 1ssued on January 20 is payable any time upto:

Options:
. o 19 April

, % 19May



=z % 19 June

4 % 19 Tuly

Question Number : 73 Question Id : 9497305450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 9497305451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Rule 369 of CTR deals with cases in relation to:
Options:

. w» Payment of commutation money to the pensioner

-  Payment of undrawn pension and arrear

- u Paymentofarrear of pension due in respect of deceased pensioner

4 = Reports to be submitted to Accountant General

Question Number : 74 Question Id : 9497305451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 9497305452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The advance in connection with natural calamities like flood. drought. cyclone efc.. can be
recovered to the maximum of how many installments?

Options:
1 % 20 installments

- « 25 installments
=z % 30 installments

4 #% 35 installments

Question Number : 75 Question Id : 9497305452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 76 Question Id : 9497305453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Reimbursement of expenses without any limit towards treatment in govermment hospital 1s
not permissible in respect of:

Options:

1 % Extraction of tooth

- w Scaling and gum treatment



= % Root canal treatment

4  Complete denturing

Question Number : 76 Question Id : 9497305453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 77 Question Id : 9497305454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
For indoor treatment in hospital in major illness of bypass surgery. kidney transplant.
major cancer freatment etc.. medical advance is admissible to what percentage of package
deal?

Options:

1. * T009%%

Question Number : 77 Question Id : 9497305454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 78 Question Id : 9497305455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Requirement of service condition for withdrawal of GPF is:

Options:
.= 10 years of service

-~ # 10 years of completed service

5 # 15 years of service

4 « 15 years of completed service

Question Number : 78 Question Id : 9497305455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 79 Question Id : 9497305456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The interest of HBA is calculated in the principle of:
Options:

, « Reducing balance

- w Reducing cost



- » Compound interest

4 w Simple interest

Question Number : 79 Question Id : 9497305456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 80 Question Id : 9497305457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

As per CCs(conduct) rules 1964, a government employee can:

Options:

¢ Speculate including indulging in frequent sale/purchase of stock/shares.

FI .

Make/allow any of his family members to make any investment which is likely to
influence him in the discharge of his official duty.

Lend money to any person on interest

Give or accept from relatives or a friend a purely temporary loan of small amount free of
4 « Interest.

Question Number : 80 Question Id : 9497305457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 81 Question Id : 9497305458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following actions shall not amount to misconduct on the part of government
employee?
Options:

, = Allowing occupation of government accommodation allotted to him to any other person.

o « Seeking redress of grievance in court of law without prior permission of Government.

% % Habitual late attendance

4 = Riotous and disorderly behavior during working hours.

Question Number : 81 Question Id : 9497305458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 82 Question Id : 9497305459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following amounts to misconduct on account of integrity?

Options:



1 « Disobedience of official orders/instructions

> % Undesirable contact with businessman /professionals

- » Noncompliance with mandatory legal requirements

4 = Unauthorized absence from duty without adequate justifications.

Question Number : 82 Question Id : 9497305459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 83 Question Id : 9497305460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Money measurement concept of accounting is based on the assumption that the value of
money will:

Options:

1 +« Remain constant

> # Fluctuate
= % Decrease

4 % Rise

Question Number : 83 Question Id : 9497305460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 84 Question Id : 9497305461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following receipt is of capital nature?
Options:

1+« Amount realised from sale of furniture.

> % Amount received from debtor whose account was previously written off as bad.

- » Amount of interest receipt from bank on a fixed deposit.

4 # Amount realised from debtors against their debts.

Question Number : 84 Question Id : 9497305461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 85 Question Id : 9497305462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Renewable fee for patent is a:
Options:

, = Capital expenditure



5 of Revenue expenditure

- u Development expenditure

4 # Deferred revenue expenditure

Question Number : 85 Question Id : 9497305462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 86 Question Id : 9497305463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Expenses incurred on the installation of a new machine is debited to:

Options:
1 % Cash account

- « Machine account
= % Profit and loss account

4 = Misc. exp. account

Question Number : 86 Question Id : 9497305463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 87 Question Id : 9497305464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Amount set apart to meet probable losses on account of bad debts is a:

Options:
. w Liability

> % Reserve
= « Provision

4 = Contingent liability

Question Number : 87 Question Id : 9497305464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 88 Question Id : 9497305465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Owmner’s equity stands for:

Options:

1 % Fixed assets — Fixed liabilities

> % Fixed assets — Current liabilities

z % Current assets — Fixed liabilities



4 « Total assets — Total liabilities

Question Number : 88 Question Id : 9497305465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 89 Question Id : 9497305466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Advance received from customers is an item of;
Options:

, « Current liability

> # Noncurrent liability

= % Noncurrent asset

4 % Current asset

Question Number : 89 Question Id : 9497305466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 90 Question Id : 9497305467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following transactions will increase an asset and also decrease an asset?

Options:
. = Stores purchased on account

-  Stores purchased on cash

- » Payment of promissory note with cash

4 % Declaration of dividend

Question Number : 90 Question Id : 9497305467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 91 Question Id : 9497305468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The correct order of showing following items in the balance sheet in liquidity order is:
1. Cash at bank
ii. Cash in hand
ii. Plant & Machinery
iv. Sundry Debtors
v. Goodwill
Options:
& Ll iv, v, iii

5 w1, il v, v



o % AL 1 1L iV, v

4 o 1L 1, v, dii, v

Question Number : 91 Question Id : 9497305468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 92 Question Id : 9497305469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which method of depreciation is suggested for coal mines?

Options:
; = Diminishing balance

~ % Fixed installment method

- » Sum of years® digits method

4 « Depletion method

Question Number : 92 Question Id : 9497305469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Ao BTH & FIF8" TEia Saem T & o getaa 82

Options:



, BIHAE Toa

T TR w=ta

M2
®

o NEFasor (Beehm) o=

Question Number : 93 Question Id : 9497305470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Withdrawal of cash from business by the proprietor for the firm is credited to:

Options:
, = Capital account

> o Cash account

» w Drawings account

4 % Proprietor account

Question Number : 93 Question Id : 9497305470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 94 Question Id : 9497305471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The preparation of trial balance helps in:
Options:

, = Locating errors of principle



- u Locating errors of omission

-  Locating clerical errors

4 » Locating compensatory errors

Question Number : 94 Question Id : 9497305471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 95 Question Id : 9497305472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The term Imprest System is used in relation to:

Options:
1 % Purchase book

> % Sales book
= % Cash book

4 « Petty cash book

Question Number : 95 Question Id : 9497305472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 96 Question Id : 9497305473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Obsolescence refers to decline in the value due to:
Options:

, = Fall in market price

- u Physical wear and tear

% « Innovations and inventions

4 % Efflux of time

Question Number : 96 Question Id : 9497305473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HY=eAAG [FH FROT {zg H FrrEe gerar 82

Options:

. gAY #eT H @Trrae
. 1Y
, » Sifas e 3R E-ge

- HiEAAT TfEas H#R afaser

4 % THET F 99T

Question Number : 97 Question Id : 9497305474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Matke sufficient provisions for fitture losses but do not anticipate future profits is a
statement in accordance to the concept of:

Options:
» Matching

DR



> u Objectivity

3 o Conservatism

4 = Materiality
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Question Number : 98 Question Id : 9497305475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Receipts and Payments account is prepared by:
Options:

; = Manufacturing concerns

-  Not-for-Profit Organisations

- » Irading concerns

, w Companies registered under the Companies Act 2013

Question Number : 98 Question Id : 9497305475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WIed AR FTae @ fees garr dan e & 82

Options:



o I TS FASAT (FS-BR-FMBE IR (ATS )
- % ST HEATAT

, » o FRfaTE 2013 & Jaa Seiga Fafaar

Question Number : 99 Question Id : 9497305476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The fundamental accounting equation A= L+C is a formal expression of:
Options:

, « Dual aspect concept of accounting

- w Materiality concept of accounting

- » Money measurement concept of accounting

, = Going concern concept of accounting
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Question Number : 100 Question Id : 9497305477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A cheque received and deposited in the bank on the same day is recorded in the:

Options:
1 #% Cash column of cash book

> « Bank column of cash book



= % Credited in the cash book

4 % Debited in the cash book
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